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Joshua Thompson ma271-w17
Assignment general_functions due 01/30/2017 at 08:00am EST

2
£ (€ Far=to .
1. (1 point) Library/Michigan/ChaplSec3/Q15.pg
If f(x) = x*> +4, find and simplify the following: ) ols

2 a B . ! . |
(a)f(z+4):(“‘f) Yy = tT4 5 4 2e \ \_/ \/

(b) 765 1+ 4) = LT D= g
(© f(5) = < +q = 29

-19) =3

@ 57(t) = SE~+ 4] = ST+ f(x) 8(x)
(e (Aly)>+4= @+ >+ Y Use the figures above, which show the functions f(x) and
Answer(s) submitted: g(x), to find the following values. Note that you can find exact
lues.
: b va uefLr_ mihie in‘:w(“, ¢ax0u \:t* T
. 1. f(g(@{:L
. 2. g(£10))= — =
e t74 + 8t°2 + 20 3. g(g()=
Answer(s) submitted.:
(score 0.20000000298023224) . _10
e
2. (1 point) Library/Michigan/ChaplSec3/Q05.pg .

(score 0.333333333333333)

4. (1 point) Library/Utah/AP_Calculus_I/setl_Reviews_of_Fundam
entals/1210s2pl8.pg

e A E Let f(x) =x?+sinxandletg(x) = where
_/ g is the function whose graph has been obtained from that of f
by shifting it 5 to the right and 9 up.

Answer(s) submitted:

® (x-5)"2 + sin(x-5) + 9
The figure above is the graph of the function m(z). Let

n(t) =m(t) +2, k(t) = m(t + 1.5).w(t) = m(t —0.5) — 2.5 and (correct)

p(t) =m(t — 1). Find the values of the following: 5. (1 point) Library/Utah/AP_Calculus_I/setl_Reviews_of_Fundam
entals/1210s2p4d.pg

1. n(=3)= . This problem concerns even and odd functions. Recall that a

2. n(2)= . function f is even if

i' k(é' 55))=_ ' Jx) = f(=x)

5 X(;O 5_)27' for all x in its domain, and it is odd if

6.p(15)=__ fx)=—f(=x)

Answer(s) submitted: for all x in its domain. The graph of an even functions is sym-

e -3 +2 metric with respect to the y-axis, and an odd function is sym-
o -1 +2 metric with respect to the origin. This is an example of one of
o -1 our major themes: the interplay between algebra and geometry.
e -2.5
* _25_ 2.5 For each of the following functions enter ”E” to indicate that
* - the function is even, ”’O” to indicate it is odd, and ”N” to indi-
(correct) cate that is neither even nor odd.
3. (1 point) Library/Michigan/ChaplSec3/Q43.pg 1. f(x) =x0

_ 2. f(x) =x%—6x043x*
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